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R E SR TEHE
&5 | BE RE A | BAEE | —FLEE| E E 27
. {mm) PN ke/m kg/ & kg
P1 D13 2,080 8 0.995 2.070 16.560
P2 D13 2,040 2 0.995 2.030 4.060
P3-1 |D 13 1,620 2 0.995 1.612 3.224
P3-2 D13 950 2 0.995 0.945 1.890
P4 |D13 2,130 4 0.995 2.119 8.476
P5-1 |D13 2,030 2 0.995 2.020 4.040
P5-2 |D 13 1,650 2 0.995 1.642 3.284
P6 [D13 1,480 4 0.995 1.473 5.892
P7-1 D13 1,460 1 0.995 1.453 1.453
P7-2 D13 1,100 1 0.995 1.095 1.095
P9 (D13 530 2 0.995 0.527 1.054
P10 [D 13 580 4 0.995 0.577 2.308
P11t D13 860 3 0.995 0.856 2.568
P12 D13 310 2 0.995 0.308 0.616
P13 D13 210 2 0.995 0.209 0.418
Pi4 D13 510 3 0.995 0.507 1.521
P15 [D13 730 2 0.995 0.726 1.452
P16 |D13 820 2 0.995 0.816 1.632
P17 |[D13 460 2 0.995 0.458 0.916
D13 62.459|Kg
D 16 Kg
D19 Kg
D 22 Kg
D 25 Kg
D 29 Keg
D 32 Kg
D 35 Keg
D 38 Kg
& i 62.459 [kg
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. (mm) X kg/m kg/Z ke

Al D13 780 14 0.995 0.776 10.864

A2 D13 1,300 6 0.995 1.294 7.764

A3 D13 980 3 0.995 0.975 2.925

A4 D13 460 4 0.995 0.458 1.832
D13 23.385|Kg
D 16 Kg
D19 Kg
D 22 Ke
D 25 Kg
D 29 Ke
D 32 Ke
D 35 Ke
D 38 Kg
& & 23.385 kg
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. {mm) X kg/m ke/A& ke

Bi D13 1,280 26 0.995 1.274 33.124

B2 |D13 1,290 2 0.995 1.284 2.568

B3 D13 3,670 7 0.995 3.652 25.564

B4 [D13 840 3 0.995 0.836 2.508
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B6 |D13 960 4 0.995 0.955 3.820

B7 D13 3,300 1 0.995 3.284 3.284
D13 71.784 |Kg
D 16 Kg
D19 Kg
D 22 Kg
D 25 Kg
D 29 Keg
D 32 Kg
D 35 Kg
D 38 Kg
a5 71.784 kg
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: (mm) x kg/m ke/#& ke
C1 D13 660 15 0.995 0.657 9.855
C2 D13 3,770 3 0.995 3.751 11.253
C3 D13 530 1 0.995 0.527 0.527
C4 |D13 460 1 0.995 0.458 0.458
CbH D13 3,650 1 0.995 3.632 3.632
C6 D13 500 1 0.995 0.498 0.498
D 13 26.223|Ke
D16 Ke
D 19 Kg
D 22 Kg
D 25 Kg
D 29 Kg
D 32 Kg
D 35 Kg
D 38 Kg
& &t 26.223 kg
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2 (mm) x kg/m ke/ & kg
D1 D13 1,380 162 0.995 1.373 222426
D2 D13 1,400 2 0.995 1.393 2.786
D3 D13 1,400 2 0.995 1.393 2.786
D4 D13 6,800 8 0.995 6.766 54.128
D5 D13 9,150 8 0.995 9.104 72.832
D 13 354.958|Kg
D 16 Kg
D19 Kg
D 22 Kg
D 25 Kg
D 29 Kg
D 32 Kg
D 35 Kg
D 38 Kg
=0 354.958 kg
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TDEP

St 30.57 90.9 92.7
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